PROFESSIONAL EXAMINATION BOARD
Jail Vibhag , Karyalay Pradhan Mukhya
P‘bProfessionol Van Sanrakhsak & Rajya Van Vikas

7)) ook Nigam Ltd. Bhopal Combined

Recruitment Test 2017
28th july 2017 03:00PM

Topic:- General English

1) Out of the given four sentences, choose the one which is grammatically
correct.

1. I have drop the vase and it broke into pieces
2. I dropped the vase and it broke into pieces
3. I dropped the vase and it have broke into pieces

4. 1 drops the vase and it has broke into pieces

Correct Answer :-

« I dropped the vase and it broke into pieces

2) Out of the given four sentences, choose the one which is grammatically
correct.

1. He has been living in New York for 1993
2. He has been living in New York since 1993
3. He have been living in New York since 1993

4. He have been living in New York from 1993

Correct Answer :-

« He has been living in New York since 1993

3) Out of the given four words only one is spelt correctly. Find the word that is
correctly spelt.

1. Siege



2. Saperate
3. Sugestable
4. Siimiliar

Correct Answer :-

4) Out of the given four words only one is not spelt correctly. Find the word
that is not correctly spelt.

1. Scissors
2. Sandwitch
3. Survive

4. Success

Correct Answer :-
« Sandwitch
5) Fill in the blank with the correct article.
discovery of anaesthesia transformed medical surgery.
1. An
2. The
3. No article required

4. A

Correct Answer :-

« The

6) DIRECTIONS: Fill in the blank with the correct preposition.
A major-general is a brigadier in the British army.

1. above

2. from

3. off



4, into

Correct Answer :-

« above

7) DIRECTIONS: Fill in the blank with the correct Preposition.
My mother bought many loaves bread from the bakery
1. from

2.0n

3. by

4. of

Correct Answer :-

« of

8) DIRECTIONS: Fill in the blank with the correct article.
John Herschel was urbane, kindly and generous man.
1. No article required

2. the

3.an

4. a

Correct Answer :-

9) DIRECTIONS: Out of the given four options, choose the correct Conjunction
to fill in the blank given in the sentence.

The doctors are doing all that they can, she is still not breathing
properly.

1. but
2. and
3.0r

4. else



Correct Answer :-

e but

10) DIRECTIONS: Out of the given four options choose one to join the two
sentences given below to make a meaningful sentence.

Rini is slim.

She wants to go on a diet.
1. Because

2. Yet

3. Therefore

4, Since

Correct Answer :-

e Yet

11) DIRECTIONS: Out of the given options, choose the most appropriate one to
fill in the blank.

Computers perform millions of calculations every second.
1. can

2. ought to have

3. could have

4. dare

Correct Answer :-

e Can

12) DIRECTIONS: Find the word which can be replaced for the given sentence.
A building for lodging of soldiers.

1. Hive

2. Barracks

3. Aquarium

4. Auditorium



Correct Answer :-

« Barracks

13) DIRECTIONS: Find the word which can be replaced for the given sentence.

A life history of a person written by somebody else other than the person
himself.

1. Autobiography
2. Biography

3. Fable

4. Metaphor
Correct Answer :-
« Biography

14) DIRECTIONS: In the given sentence there might be an error. Find out which
part of the sentence has an error. If there is no error, mark your answer as (d)
i.e. ‘No error’.

None of us are (a)/ going to the marriage party, (b)/ aren’t we? (c)/ No Error

(d)

1. (a)
2. (b)
3.(d)
4. (c)

Correct Answer :-

15) DIRECTIONS: In the given sentence there might be an error. Find out which
part of the sentence has an error. If there is no error, mark your answer as (d)
i.e. ‘No error’.

The Pacific Ocean (a)/ is deeper than (b)/ Arctic Ocean. (c)/ No Error (d)
1. (a)
2. (b)



3. (d)
4. (c)

Correct Answer :-

16) DIRECTIONS: A sentence with an underlined idiomatic expression is given.
What is the meaning of the idiomatic expression ‘goes without saying ‘in the
sentence given below?

It goes without saying that you will improve your skills with practice.

1. It should be considered impossible
2. It should be generally understood or accepted
3. None of the above

4. It is beyond common understanding

Correct Answer :-

« It should be generally understood or accepted

17) DIRECTIONS: A sentence with an underlined idiomatic expression is given.
What is the meaning of the idiomatic expression ‘Between the devil and the
deep sea ‘'in the sentence given below?

For most people a visit to the dentist is the result of a choice between the devil
and the deep blue sea - if you go you suffer, and if you don't go you suffer.

1. None of the above
2. having nightmares
3. having only two very pleasant choices

4. having only two very unpleasant choices

Correct Answer :-
« having only two very unpleasant choices

18) DIRECTIONS: A sentence with an underlined word is given below. Find the
Word which is most similar in meaning to the underlined word

The company deceived customers by selling old computers as new ones.



1. cheated
2. justified
3. pleased

4. benefitted

Correct Answer :-

e cheated

19) DIRECTIONS: A sentence with an underlined word is given below. Find the
word which is opposite to the highlighted word from the given options.

They enlarged the house by adding an east wing.
1. decorated

2. strengthened

3. increased

4. reduced

Correct Answer :-

e reduced

20) DIRECTIONS: A sentence with an underlined word is given below. Find the
word which is opposite to the highlighted word from the given options.

One by one the old buildings in the city have been demolished and replaced
with modern tower blocks.

1. ruined
2. constructed
3. destructed

4. razed

Correct Answer :-

« constructed

Topic:- General Science

1)



Glucose is oxidised to ethyl alcohol in-/ T SUTSH Tebled A SHTRIIpd gidT 8-
1. Aerobic respiration/ CIBEIR] %mtrfr'

2. None of these/sﬂﬁ@raﬁé:@'
3. Fermentation/ fpug |
4. Anaerobic respiration/ SEdIg 499 |

Correct Answer :-

. Fermentation/ fosua #

2) The process by which chemical change takes place in a substance when
electric current is passed through it is called -/ a8 UsH YRT /% gRT TP gl o
IRAfE gRad=T gdT @ 99 399 gl fagad YRT yaTfed 8, &) $gd 8-

1. Electroplating/ sﬁ?ﬁjl?ﬁﬁ"[

2. Electrodes/ Eﬁ?ﬁjﬂ

3. Electrolysis/ fagad sique

4. Thermionic conduction/ AMT® IToi

Correct Answer :-

« Electrolysis/ fagad sfqaca

3) Lichen represents-/ @S- UeRid #vdl 8-

1. Symbiotic association of an alga and a fungus/ﬁmﬁmmﬁ%\?ﬂﬁm
2. Parasitic association of an alga and a fungus/ 2dTd YT Hdb H TR

3. Mycorhizial association/ AIEHRISSIT
4, Commensalism/ IgHIfTdr

Correct Answer :-
. Symbiotic association of an alga and a fungus/ a1 dYT &ad & geittadl

4) If a given force is applied on a smaller area of contact the pressure exerted

by it-/ afe ts far Ta1 96 T B P AAEH W AT 9, 9 $Hb §RT @1 47 9d-
1. None of these/ 378 T ®Ig T8l
2. Increases/ ST



3. Does not change/ URafdd Tgl gl g
4. Decreases/ W@Tﬂ

Correct Answer :-

e Increases/ aa_lll

5) The phenomenon of the change in the path of the light as it passes from one
optical medium to another is called-/ T® UHIRIS ATAH A GO TSR ATEAH F oA
TR UPHTR & T4 § uRad &t ufvge- sgarnd! 3-

1. Refraction of light/ UeTRI &1 3T

2. Dispersion of Iight/umﬁﬁéﬂw
3. Both (a) and (b)/ (a) dYT (b) Gl
4. Reflection of the Iight/umﬁqﬂa?ﬁ

Correct Answer :-

« Refraction of light/ TR &I 3UdcH

6) Site of protein synthesis is the-/ W9 AW &I 8-
1. Ribosomes/ IZ&TH

2. Nucleosomes,/ gfaasii TH

3. Lysosomes/ ARANIH
4. Dictyosoms/ fSfaearam

Correct Answer :-

« Ribosomes/ JSSRATH

7) The loudness of a sound depends upon its—-/ wﬁrﬁmﬁﬁvm‘cﬁ%-

1. Frequency/ 3Tgft IR
2. None of these/?ﬁﬁﬁﬁgﬂﬁf

3. Amplitude/ TOMH W

4, Pitch/ dR@ WX

Correct Answer :-



o Amplitude/ 3—TH R

8) Which combination of chromosome is capable to determine the sex of a

child?/ TR &1 HH-G1 GG 9= & o frufzor o wem 32
1. YX
2. YY
3. XY

4. XX

Correct Answer :-

« XY

9) Lubrication of moving surfaces-/ Tfa=id dgl & YIS -
1. Increases friction/‘EITST'UTEETCIT%r

2. Removes friction/‘EITSTUTEET-IT%r

3. Has no effect on friction/mwﬁéqmﬁﬁm

4. Reduces friction/ T¥01 & gIdT §

Correct Answer :-

« Reduces friction/‘EINCUTW@?ﬂ%
10) High boiling point of water is due to-/ 5@ &1 3= HYAIP Y & HFRUT A 8-

1. Its high specific heat/ S9®! 3= fafRry w7

2. High dielectric constant/ TRIagad fRRT®H

3. Hydrogen bonding/ @ sglﬁlﬂ g4
4. Low dissociation constant/ 74 fage RRI%

Correct Answer :-

« Hydrogen bonding/ @ sglaqw

11) CO, & O, balance in atmosphere is due to-/ CIGIGERLE: | CO, dUT Ozﬁﬁﬁqﬁm

?-



1. Leaf anatomy/lTUfQ ISPt & HROT
2. Photosynthesis/ UHTRT TRATUT & HRUT
3. Photorespiration/ TeBTRT 49 & HRUI

4. Respiration/ 4T B HRUI

Correct Answer :-

« Photosynthesis/ TR YRAYUT & HRUT

12) The number of unpaired electrons in carbon atom is-/ Wwﬁ\ﬂg‘ﬁﬁﬁ
SATE [ B IS 8-

1.3

2.4

3.2

4.1

Correct Answer :-

13) 'Controller of cell' is a-/ ‘&I fAazi®’ 8-
1. Nucleus/ et

2. Genes/ S
3. Vacuoles,/ Rfadsr

4. Mitochondria/ mgaasﬁrm

Correct Answer :-

e Nucleus/ FadH

14) A monochromatic beam of light passes from a denser medium into a rarer
medium. As a result-/ T® THAUIT YHT §of Th o & faver wreaw ® Jorar g, aikoma
WE=yg-

1. Its wavelength decreases/ S| a7 ¢80 &4 8l 9Tl &

2. Its frequency decreases/ LGl &nqﬁrms‘raﬁ%
3. Its velocity increases/ ST A1 §¢ SITdT &



4. Its velocity decreases/sﬂwa'l'rwirfﬁ\_rﬂ?lT%r

Correct Answer :-

. Its velocity increases/ 391 7 §¢ SIIdT &

15) Which of the following is not a natural polymer?/ ﬁgﬁﬁﬂﬁﬁwﬁﬂiw
T8 8?2

1. Starch/

2. Glyptal/ freoa

3. Gchogen/’Fﬂ's{ﬁTﬂ
4, CeIIquse/@FJ@GI

Correct Answer :-

. Glyptal/ faga

16) Which of the following is the most essential for an electric circuit to work?/

& ferg WRuy & ol w31 & o g & A S qaffie smaxas -
1. A switch board/ T g a8

2. A switch/ & R

3. None of these/ S8 ¥ ®Ig g

4. An electric current/ U fagad 4RT

Correct Answer :-

« An electric current/@ﬁ'g{qﬂ YRT

17) The heat energy emitted by sun reaches the earth through-/ q&wmﬁh
Solt gdt 9% ugTdl 8, b gRI-

1. None of these/éﬂﬁﬁﬁéﬂ?’f
2. Radiation/ fafeor
3. Conduction/ dTdd

4. Convection/ ddgd

Correct Answer :-



. Radiation/ fafezur

18) In which of the following processes light is absorbed?/ fFafafea # 4 #19-3
Weh ™ § YT BT SGINTOT BT 2 |

1. Photosynthesis/ U1 GRAHUT
2. Sublimation/ 3¢dUld-
3. Rusting/ 7T &

4. Burning/ STl

Correct Answer :-

« Photosynthesis/ TR HXATOT

19) The gas released in Bhopal tragedy was:/ HU@ 19 Frd) A fFrufefaqa & 9 g
I &1 feama gam o1-

1. COCl,
2. MIC/TH 3MT$ T}

3. None of these/'s{_rlﬁﬁaﬁ'sc:lﬁ
4. Phosgene/ BISIE

Correct Answer :-

« MIC/TH 318 It

20) Glauber’s salt is-/ Td6R @dUT (Glauber’s salt) 8-
1. Na25203.4H20

2. N625203.5H20

3. Na;C03.3H,0

4. Na»S04.10H,0

Correct Answer :-

e NayS04.10H,0

Topic:- General Knowledge



1) As per the Census 2011, the population of Madhya Pradesh is almost:/
ST 2011 & SR, T YT DI TSN AT ?

1. 7.7 crores /7.7 $i|$
2.7.3 crores/7.3 %iIS
3.7.5 crores /7.5 ﬁ_s’

4.7.1 crores / 7.1 @R S

Correct Answer :-

e 7.3 crores/7.3 $€|S

2) On which of the following dates did Shri Jayant Mallayya present the annual
state budget of the financial year 2017-18 in the legislative assembly?/

frafafad A 3 5 aiRa o) ot saq wear A fAurh fFy=ayr & fasfg af 2017-18 & aiffe
Iy doie Ul fpar?

1. 28 February/28 TRds}
2. 3 March/3 AR
3.1 March/1 A

4.2 March/2 A=

Correct Answer :-

« 1 March/1 9=

3) Ahmed Sher Khan is associated with the game of:/ Wﬁ?@ﬂ%@ﬁ%ﬁ‘d

IS FUE?
1. Hockey/ G
2. Shooting/ IBEUEEIS

3. Archery/ dRarei
4. Football/ Pedid

Correct Answer :-

« Hockey/ gid!

4) Parsili is situated in the district of:/ TRRieh A ford A fRG 82



1. Sidhi / et

2. Indore / $&R

3. Bhopal / T

4. Mandsaur / H&HR

Correct Answer :-

« Sidhi / Tl

5) In which year was the Narmada Valley Development Authority established?/

eier a1t fawr wiftewur fa af wifta gam 42
1.1988
2.1987
3.1985

4. 1986

Correct Answer :-

« 1985

6) In which year was the M.P. State Forest Development Corporation

established? / f&d o # Ta.dt. 39 9= fawra e &t wirg=n 9t Wt A
1.1973
2.1975
3.1979

4,1977

Correct Answer :-
e 1975

7) In which village is the Fair of Nagaji held?/ AT & Ad &1 TS $I4- § Mg A
BT e?

1. Bhamavad/ HHIdIg
2. Ghoghara/ 9TeRT

3. Sanwara/ 9dRI



4. Porsa/ R

Correct Answer :-

« Porsa/ R

8) Where was the second capital of Chandragupta II?/ Wﬁ?ﬂ'ﬂﬂﬁ
foa Turi wat <ft?

1. Vidisha/ fafgam

2. Ujjayini/ ST
3. Sanchi/ 9=t

4. Maheshwar/ A8

Correct Answer :-

« Ujjayini/ ISR

9) Who has been recently appointed as the Chief Secretary of Madhya
Pradesh?/ 3Td &1 & Wed UeRT & Y& Ifua & ¥u # fHa frgaa fear man g2

1. Neeru Chadha/ 1% 9g1
2. Sahithi Pingali/ Sfgfa e
3. Basant Pratap Singh/ &d Uard Rig

4. Raja Girinder Chari/ 3T e @t

Correct Answer :-

« Basant Pratap Singh/ §3d UdmJ Rig

10) Which of the following is located in Gwalior? / ﬁ?ﬁﬁﬁ?—ﬁﬂﬁﬂ?ﬁ@ﬁ%?
1. Jahangir Mahal / GBTTﬂTﬂBFI

2. Sahastrabahu Temple / Hg¥AaTg HfdX

3. Rani Roopmati Mahal / I TUHA 7

4. Madan Mohan Palace / He HigH Agd

Correct Answer :-

. Sahastrabahu Temple / HgddTg HicR



11) Which of the following rivers originate from the same plateau? / fada

- § el U € UK | S gl 82
1. Narmada and Sone / FHaT 3R T

2. Narmada and Betwa / TTHaT 3R 9ddT
3. Shipra and Narmada / from 3R Aeer
4. Shipra and Sone / f&ur 3iR I

Correct Answer :-

« Narmada and Sone / THGI 3R I

12) Which of the following cities was earlier called Narmadapuram? / fadd

DI T WER UG THTYIH Hgerral UT?
1. Jabalpur / SdeYR

2. Hoshangabad/fﬁ?iTITﬁTar

3. Bhopal/ﬂ-ﬁmﬁ

4. Gwalior / TaTfeRR

Correct Answer :-

« Hoshangabad / §IRITETG

13) Which of the following stadiums is not in Indore?/ fgfifEa # Q@ -1 Rfeaw
AR AT E?

1. Nehru stadium/ "8 &feay

2. Holkar stadium/ gleR RfsaH

3. Abhay Khel Prashal/ YT W TR

4. Thakur Ranmat Singh stadium/ 3% I0Hd g $feaq

Correct Answer :-

« Thakur Ranmat Singh stadium/ 3T&x Y04 Rig Tfead

14) Which of the following states doesn’t border Madhya Pradesh?/ frafataa
IS4l T A PIH- AT 0 UST HT AT 1549 181 82



1. Karnataka/ PHlch
2. Uttar Pradesh/ StR Ul

3. Gujarat/ ToRTd
4, Rajasthan/ ISR

Correct Answer :-

« Karnataka/ FHlch

15) Which department does the Madhya Pradesh Water and Land Management
Institute come under?/ AW 9d 3R YA yees TR fbd fAurT & siavfa smar 82

1. Home Department/ g fayrT
2. Panchayat and Rural Development Department/ Tamrd 3R UTHT et faumT
3. Department of Mineral Resources/ QS SareH faumT

4. Public Works Department / s afor faum

Correct Answer :-

« Panchayat and Rural Development Department/ Tad 3R UTHT et faumT

16) Who was the first Speaker of Madhya Pradesh Legislative Assembly?/
TSR I AU & guw iR i 42

1. Kashi Prasad Pandey/ &M ¥ Ui
2. Ishwardas Rohani/ 3439 g

3. Pt. Kunjilal Dubey/ U $eildrd g

4. Dr. Sitasharan Sharma/ 1. gaIROT JHT

Correct Answer :-

. Pt. Kunjilal Dubey/ U efienel g

17) Who was the first Governor of Madhya Pradesh?/ YT USX & UYH IqUTe P
I?

1. Kailash Joshi/ ey oigft
2. Pattabhi Sitaramayya/ UgT TdRTHTT

3. Sarala Greval/ IRAT AT



4. Ravi Shankar Shukla/ Ifa=ieR el

Correct Answer :-

« Pattabhi Sitaramayya/ TSI SaRmAT

18) Who was the first Chief Justice of Madhya Pradesh High Court?/ HAYSY 3
YHITEY & Uga g Arardfie o 32

1. Rohan Sachdeva/ R EELTI
2. Dayashankar Naag/ GdI=ieR AN

3. M. Hidayatullah/ H. fReridee

4. H.S. Kamath/ Td. TH Hh1HY

Correct Answer :-

« M. Hidayatullah/ . Rerqearg

19) Which poet is known for the poem ‘Rasik Priya’?/ IR firar wfaar & foe «149-
| Hdt 911 914 §?

1. Padmakar/ Usiih}

2. Bhushan/ {¥UI

3. Ghananand/ Mg
4. Keshavdas/ ®RIAGN

Correct Answer :-

« Keshavdas/ CeRITeAR

20) The Kaytha sites related with Chalcolithic culture is in the district of - / d¥

TTTUT H&pfa TR SrayT Arge fod ora d 82
1. Indore/ '5{33?

2. Bhopal/ i@

3. Ujjain/ I

4. Guna/ AT

Correct Answer :-



. Ujjain/ I=H

Topic:- General Hindi

1) AT FI A I 2 :
1. AT
2. 3TAIH

3.9
4. 3ffHd

Correct Answer :-

. 3MTdl®

2) M ALK T
1. PR
2. AH
3. d&d
4. GRSl

Correct Answer :-

3) ‘UGUr e BT T AE 7 :
1. 3rfay

2. AGHITA
3. WIPR

4. 9% S Tl

Correct Answer :-



4) qH A BT H STH BTAI DI ATd HI’- AR
1. RIS dTed
2. QoINd dlay

3. Ay a® ar

4. Joharf arr

Correct Answer :-

. SIRIRIE® e

Correct Answer :-

. Tl Efy

6) ‘ST ABITHT Bl &’ - AT © :
1. SIS GG

2. o T aRE® T
3. fa—maiyss a1

4. AT G

Correct Answer :-

. RFAIYS T



4. 33

Correct Answer :-

Correct Answer :-

. GG

9) “wrel fore vt et ¥, wiie gi-gfy ema gt y-ufda 4 2
1. IUHT 3{ADBR

2. 3RS 3fABR

3. faoRNfaT sreipR

4. AR SATDPR

Correct Answer :-

. 3Ifad SEBR

10) “3F-d9 FHT YETa BT AR § :
1. 3TSH-Hd HAT
2. TTAHCIA DAl

3, ST HAT
4. IO BT

Correct Answer :-



11) ‘Archive’ & fgdl TR UTY® 2Teq 3
1. SIHTENTR

2. q&dl

3. R

4. 31fqH

Correct Answer :-

. SRR

12) ‘Ydd’ Yeg b1 TATGQTHI §
1. TR

2. 1

3. 3ife

4. 3ad gHt

Correct Answer :-

. Jad gl

13) ~@sar fora & Jieft o arelt ygE el B
1. TSt
2. gad!
3. SO
4. {4

Correct Answer :-



4, gfgt fgdt o Siaid

Correct Answer :-

. oY gl & i

15) ALY A USRI Afgfe a1 2 :
1. T

2. JHTd g

3. 3{FTQl

4. dad

Correct Answer :-

16) gORIUNTG fgaft P pfa e :
1. faaet

2. ATY T =Tl

3. foeeiRR soar

4. 3THGY BT QYT

Correct Answer :-

o SFATHST BT Tl

17) fafafeq o fodw ssg-gm adi e :
1. QTd-&fY

2.%¢1-gld

3. HI&-se

4. fea-gfea

Correct Answer :-

. REgRA



18) Fuffea A g a7 :
1. T8 QTG A=Y ST |
2. Aol Hd W 9 &

3. Yufd 98 §adeR 7|
4. 3T ISP HH | &g gl

Correct Answer :-

. Yfd 98 AR g

19) FEffRT A gs A=< 8 :
1. Bgl

2. o

3. 9§

4. AT

Correct Answer :-

20) frraffae & g fmde Te-gm T e :
1. dlg-dTe]

2. TAMd

3. JAIH

4. {ADHIATD

Correct Answer :-

. A9\

Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series: /e Eﬁ§§
e guft § Terd g 91d Y|

3,5,11, 29, 87, 245



1. 87
2. 11
3.29

4, 245

Correct Answer :-

2) Find the least number which must be subtracted from 18265 to make it a

perfect square./d8 ~gTaH BT JTd BITOTC oA 18265 T T °STT AT UR YT TROITHT =
gof ot &= =g |

1. 45
2.38
3.40

4. 30

Correct Answer :-

. 40

3) A cistern is normally filled in 8 hours, but takes another 2 hours longer to fill
because of a leak in its bottom. If the cistern is full, the leak will empty it in:/

TP BIol JTHTG: 8 Tl H U STdT €, AP TP dell § TP D¢ 8 P PRUI ITb WA A g be
SITST THY T 8 | I6J9R B TRT WRT B R, S B¢ A RI19 & HRur 39 @reft g4 § fvan
U TRM?

1. 20 hours/20 ©¢
2. 16 hours /16'€i?:’
3. 40 hours/40 9¢

4. 25 hours/25 °¢

Correct Answer :-

« 40 hours/40‘€i?:’

4) The successive discount of 15%, 20% and 25% on an article is equivalent to
the single discount of: /&l a¥g TR FHR: 15%, 20% 3R 25% F HFANT Fe
Frefafea ° 3 59 ted Tuged ge & aRER ghi?



1. 60%
2.47%
3.40%

4. 49%

Correct Answer :-

« 49%

5) The roots of the quadratic equation y2+3y+2=0 are:/fgara gHi®ur
y2+3y+2=0 F YA 3:

1.-2,-1
2.2,1
3.-4, 1

4.4, 1

6) If the side of an equilateral triangle is 28 cm, find its perimeter./qﬁwm
Py o1 Yo 28 Wt B, 3BT uikHATY I FY |

1. 81 cm/81 It
2. 82 cm/82 9t
3. 84 cm/84 Tt
4.83 cm/83 It

Correct Answer :-

. 84 cm/84 T

7) An isosceles right-angled triangle has an area 800 cm2. What is the length of

its hypotenuse?/T® JH®GIU JAfGETE AIYS T &A% d 800 AH2 B, df 39 &l & darg
T EN?

1. 65 cm/65 TH

2. 40 cm/40 IH



e I~
3. 40 2 cm/'m“'"' 2 @Iﬁ
e e
4. 3042 cm/ amzw
Correct Answer :-

. 40V2 o A0V2 gy

8) A, B and C undertake to do a work for Rs.707. A and B together do 5/7 of the
work and rest is done by C alone. How much wages (in Rs.) should C get? /A, B

MM CTFFH P FUA 707 A RTHA BT 3BT Ad 81 A 3R B T 1Y FAAH ST FHFT15/7
YT IRT HXd § YT Y TG HTH C 3bd GRTHdT 8| C B fhasit uergdt (+ F)fiari

1. 200
2.102
3.202
4.150

Correct Answer :-
e 202

9) DIRECTIONS: What should come in place of the question mark (?) in the
following question? /3w fArafefEd usa ® yzAar® g (2) & WIF R &1 31T T1fge?

9932 + 882 + 314 -? =7171 + 630
1. 3227
2.3327
3.3723

4.3273

Correct Answer :-

10) DIRECTIONS: What should come in place of the question mark (?) in the
following series? /¢ Fgfafaa Joft & yyars fore (2) & WM W T 37 T1fgw?

350, 372, 396,?, 450

1.442



2.418
3.422

4.426

Correct Answer :-

. 422

11) If a number is greater than 5 but less than 9 and greater than 7 but less
than 11, the number is: /A TH JWT 5 T TTGT Afh 9 J HH TUT 7 A TSI A 11  HH
g, A EeIe:

1.8
2.7
3.6

4.5

Correct Answer :-

« 8

12) The simple interest on an amount at the rate of 5% per annum for 2 years and
3 years are respectively €100 and £150. Find principal. /& 3T W= 590 arftfe sare &1
R 2 a9 qYT 3 T BT TYROT TS HUM: T 100 TAT T 150 8 | GAY F1d BT

1. % 5000
2.3 8000
3.%1200

4.31000

Correct Answer :-
« 31000

13) If the mean of five observations x, x+2, x+4, x+6 and x+8 is 11, then the
mean of the last three observations is:/ﬂﬁ U‘I?Iﬂ&l'uﬁ' X, X+2, X+4, X+6 dYT Xx+8 hI
e 11 8, ot Sifaw 9 deon s AT 8:

1.13

2.17



3.15

4.11

Correct Answer :-

14) The lengths of two trains are 154 m and 246 m and they are running
towards each other. The speeds of these trains are 52 kmph and 28 kmph,
respectively. How much time will they take to cross each other?/154 Hiez 3R

246 TR AETS B Gl 7 TP gaR Fi 3R fa=fia §1 379 ¢ &) 7fq svasm: 52 fwdieer ok 28
fptil/der 31 3 U g 3t UR S | fora awg |t

1. 14 seconds/14 ¥HUS
2. 12 seconds/12 YHUS
3. 18 seconds/18 YHUS
4. 10 seconds/10 YHUS

Correct Answer :-

« 18 seconds/18 ADHUS

15) Divide 94 into two parts in such a way that fifth part of the first and eight
part of the second are in the ratio of 3 : 4 is:/94 @I q Ul ¥ 39 @¥i% A Ficl f ugal
BT Uigal URT 3R O & 3MSd U 6T 3FuTd 3 : 4 §:

1. 20, 44
2. 30, 64
3.35, 69

4. 34, 60

Correct Answer :-

- 30, 64

16) Two trains running in the same direction at 40 kmph and 22 kmph
completely pass one another in 1 minute. If the length of the first train is 125
metres, the length of the second train is:/TH f&=m # HH: 40 fhaiier/der ud 22
franftex/der @t fa & 97 ¥t S v Ml Th-ga & 1 fiFe # R o7 ot 71 afe ugedt Yt
Pt daTg 125 Hiex g, ot gol ISt Bl @ aTs 8:



1.125 m/125 e
2. Can't be determined/Ruifa T8t faT ST Ibar
3.175 m/175 Hiex

4,150 m/150 HicR

Correct Answer :-

« 175 m/175 HIR

17) The population of a town is 8000. If the males increase by 6% and the
females by 10%, the population will be 8600. The number of females in the

town are:/ U®h & &1 T-TEGIT 8000 7| TfS U B TR H 6% @1 gig 3Nv afgenai
P TR H 10% B i il B, ot SHUBIT 8600 B ST, Hed # Afgarai t swien
gt

1. 2500
2.4000
3. 3000

4. 3500

Correct Answer :-
« 3000

18) At present, the sum of the ages of A, B and C is 150 years, whereas 10
years ago, the ratio of their age was 5:4:3 respectively. Find the ratio of their

ages 10 years hence. / A, B 3R C & TdHT 31 &1 TNT 150 T9 g, Saf 10 a9 qd 371
3Tg BT JUTd HUIT: 5:4:3 YT, df 10 T 91g SAD! 3T BT SJUTd JTd BIOTI

1.6:9:5
2.7:6:5
3.4:3:5
4.7:5:3

Correct Answer :-

19) Find the smallest of the following fractions: /fAufaRad fim # @ g« Bidt fu=
BIGE Y



51
3. 49

43
4. 2%

Correct Answer :-

20) Find the largest of the following fractions./fFafafad fis & d 9o a3t i 319
|

453
1. 584

231
5 349

759
3, 894

352
4. 478

Correct Answer :-



